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aVINOURBF
IEGL | K4 g3 50m 30m =11 10
1[/MIERR R 331 344 675 36 5
2| 5L E B3 Xt 312 344 656 31 9
3| F M E A B 310 342 652 25 9
4| MIRER =0T 302 333 635 22 8
5|48 1E= R 290 333 623 20 1
6|FZORE el 295 320 615 21 7
U=iG X¥=HET 251 302 553 11 1
Yh—TBF
IEGL | K4 g3 50m 30m =11 10
1&EFREE ZRFHE 289 327 616 18 6
2|5l PR ek ZEREK 289 318 607 12 2
KJESZ S et ZEREK 272 320 592 16 5
4|RBERIL =B 257 317 574 12 4
5|%/EF f## XEEK 259 310 569 11 3
6|78 fF5 ZRFHE 252 314 566 10 4
7|/M L ZRE ZEREK 241 317 558 14 4
8| A AR FNAH ZEREK 232 325 557 14 3
IME E ZEEK 240 313 553 11 4
10/ ILBE ZEEK 212 303 515 9 4
1|#8REX ZRIEHREE 230 284 514 10 2
12|IRABE R XESK 218 293 511 5 2
13| & & 5hA ZEEK 228 279 507 5 2
14| BRK— ZEEK 213 287 500 5 1
15| BREFETE ZEEK 198 284 482 8 2
16| EHE— =B 178 302 480 6 2
173/ LHIK XKEEK 186 260 446 9 3
18| AR ZEEK 167 272 439 6 0
19| = HaElk KB AT 152 268 420 2 2
20| B R KHE ZEREK 162 252 414 2 0
21(HEMESE ZEEK 146 255 401 3 2
22| EXIRK =E¥HE 161 240 401 5 0
23[3tAiE— E=REK 132 266 398 3 2
24(&HFIA ZEREK 147 239 386 5 3
25| AR E XKEEK 137 237 374 2 1
26 |/NFE SR K BA ZEREK 73 272 345 2 3
xRig |HFEAN ZEREK 0 0 0 0 0
Rig |[EARFOH ZRIEHREE 0 0 0 0 0
Rim | AKREE ZEREK 0 0 0 0 0
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Yh—T&F

IEGL | K4 g3 50m 30m =11 10
1| XER ZEEK 279 312 591 13 2
2|8z oK =EEK 268 298 566 11 5
3| BER ZEEK 261 305 566 7 2
AILKXEE ZEEK 252 288 540 9 3
5| AREH ZEEK 236 303 539 7 1
6|5 %D ER ZRIEHREE 224 290 514 10 2
IEHERE ZEEK 232 274 506 4 1
8| AR AR ZRFHE 215 275 490 3 1
o|Ff LB ZEEK 221 268 489 4 1
10 LR FF ZEEK 201 279 480 2 0
MERZEMNS ZEEK 211 268 479 4 1
12|8R S48 ZRFHE 176 284 460 3 1
13|IMAEE ZEEK 129 222 351 6 0

Rim |ZHBF ZEEK 0 0 0 0 0

R | THREE ZEEK 0 0 0 0 0

3I0MWD R

IEGL | K4 g3 30m 30m =11 10
1|#&EES ZRFHE 308 283 591 13 5
21K = ZRFEGF 279 281 560 10 5
3| R ZRFHE 267 259 526 7 3
4 RES & ZRFEGF 251 253 504 5 2
5|7k FHFE—BB =EZ¥HE 253 246 499 7 1
JEN:EYS =E¥HE 230 256 486 2 1
7|15 1E & ZRFHE 184 252 436 6 2
8| AEHE ZRIEHREE 173 206 379 1 0




